Total

No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5404]-101

Time
N.B.

M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
(EC-101 : Micro Economic Analysis—I)
(2008 PATTERN)
: Three Hours Maximum Marks : 80
:— (1) Attempt all questions.
(i1) Figures to the right indicate full marks.
(iizt) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one in 500 words : [20]
(1) Explain fully the Law of Variable Proportions.
(2)  What is Consumer Surplus ? Analyse the Marshall’s Measurement

of Consumer Surplus.

Answer any one in 500 words : [20]

(1)  Critically explain the Revealed Preference Theory of Demand.

(2)  What is Utility ? Explain fully the Law of Diminishing Marginal
Utility.

Answer any two in 250 words each : [20]
(1) Explain the concepts of Accounting Cost and Economic Costs.
(2) Explain external economies and diseconomies.

(3) Explain Income effect with the help of Indifference Curve.

(4) Explain merits and demerits of Dynamic economics.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Average cost and Marginal cost
(2) Demerits of deductive method
(3)  Substitution effect
(4) Cross elasticity of demand
(6) Linear homogenous production function

(6) Fixed and wvariable cost.

(W& wUIW)
% : dF A THUT T : 80
o :— (i) |E WA gredn
(ii) IoEhele 3k YO U SFifodm.
({ii) W THR! STV HgE STEmEd.
(iv) SAEIS dY Gech AhcAl HId.
(v) USHEE Too TUSH ULAUAR] TRME.

1.  Welicish! HITAE TRl Y 500 ¥ W fal [20]
(1) ogaen yAom=l fam |ias e .
(2) SUHEETE GO US| 61 ? AR AreA SUMERATE Sars e
e foversor &

2, eliide! HIAE Tel Y9 500 ¥ SRRl [20]
(1) W= Yehe UEdl f9gide dehicAeh TSR0 .
(2) IEG BUS ®E ? U2l dHd SuEfiaen fagd afos T
.

3, Welietsh! Y=l Yode! 250 visd SW felel (HivaEl gF) [20]
(1) e o e @9 el T &
(2) 9 FEdr MU de TR &
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(3) THI TTAT WA 39— URUM T AL
(4) TfquE  ALITET TU-SN TR H.

4, digRE du faE (SR Aw) [20]
(1) TWEd Td enfon g ©d
(2) frma ugdE QW
(3) witgar aRomH
(4) HETURET A= SAdfeehdl
(5) Wes TCMA ThieHH! IARA e
6) fer e sgaa =,

[5404]-101 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-102

M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
(EC-102 : Public Finance)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.
(i1) Figures to the right indicate full marks.
(iizt) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]
(1) Explain in detail the Fiscal functions of the Government.

(2) Explain in detail the ‘Benefit Principle’ of taxation.

2. Answer the following questions in 500 words (any one) : [20]
(1) Discuss the shifting of tax incidence under different market
conditions.
(2) Explain fully Wiseman-Peacock Hypothesis of the growth of

public expenditure.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Critically examine ability to pay principles of taxation.
(2) Distinguish between Impact and Incidence of Tax.
(3) Explain the concepts of Public Goods and Merit Goods with
the example.

(4) Discuss the classical and Keynesian approaches of public
debt.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Wagner’s law of public expenditure
(2)  Administrative Efficiency
(3)  Shifting of tax incidence
(4)  Social cost-benefit analysis
(6) Burden of public debt.
(6) Types of taxable capacity
(WS ®|UTa)
q@ : dE A THUT T : 80

g — (i) |d YA el

1.

(ii) SVdhele 3% qu U Syifdad.
(fii) IW T9R] 9 HLYZ SHE.
(lv) USHEE T TUSH UYAUAR] TRE.

TS YAl SR 500 ¥ Rl (RIvERl Tw) [20]
(1) WHRE TREE HE gfaam W &9
(2) HNUAE ‘oMY d@’ GfgmR W &

TS YAl SR 500 ¥ Rl (VAR Tw) [20]

(1) fafgy aoRAA FIWRET GHRATET = H

(2) ESEA-fyehies I WESR ©E Joredl TElaheddl dfawR T
.

A YAl S TAS! 250 VKid folel (HIUME g) [20]
(1) HEA &9 qoare kA TU&TT .

(2) HUEM S FIUR A Teh T Hd.

(3) [UMHE HESeh a& o TUNcHE o] A1 Hehoudl T .
(4) HESE FHeidadEr SAaTeR! o hedEd gt Jered =949 .

[56404]-102 2



4. dieda foor fagr (U@ Aw)

(1)
(2)
3)
(4)
(5)
(6)

[5404]-102

=T s T f9m
STAEATIH I hTd T

FLANE R HTl
qmHIfSeh Wa-oy faverson

HreSiqeh  sholal R
TR UHdE GHhR

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-103

M.A. (Part I) (First Semester) EXAMINATION, 2018
ECONOMICS
(EC-103 : Agricultural Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt A/l questions.
(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]
(i)  Discuss the place of Agriculture in Indian Economy.

(i) What is Organic farming ? Discuss the future scope of organic

farming.

2. Answer the following questions in 500 words (any one) : [20]
(i) Explain the role of ‘NABARD’ in Agricultural credit.

(ii) What is food security ? Explain the problems of food security

in developing countries.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(i) Discuss the recent development of Green Revolution.
(ii) Explain the impact of ‘Self-Help Group’ on Agricultural credit.
(izz) Explain the present status of Bio-technology.
(iv) Discuss the problems of Agricultural marketing.
4, Write short notes on (any four) : [20]
(i) Report of Radhakrishnan Committee
(iz) Issues of livestock
(iit) Co-operative Credit System
(iv) The scope of Hybrid Seeds
(v)  Agricultural Productivity
(vi) Farming as a business or way of life.
(W& wUia)
9% : 9 a™ THUT TOT : 80
g :— (i) W YA e
(i) 3RSl 3T YIAE YU IO SEifodra.
({ii) SW THHl o HLYS SAHMEIA.
(jv) USHHE T TUSH UYTUAR] TREl.
1. Tcftcist Yo W 500 Vi foel (FIvEEl weR) [20]
(i) AR ASHTEdA Ui T At ==
(i) U A WS ®E ? IR ASFIdA G Udrea HfosaeRTei

[5404]-103

It ded =t R



2. Weld YEAET SW 500 V=M feel (MR ) [20]
@) P foaqeede ‘AEre =l qfie ww w5

(i) ST WS &M@ ? fokgeiial Qumdia  ST-Rafas=an  guen
T A

3. Tolid gyt SW Ykl 250 VSd foagl (HvEl @) [20]

() Bidwd=a Afdaseid Fledid fawmmeed ==l &q.
(i) &N foaQEcueEa ‘@I-ggEd e’ uiumm W .

(iii) SO TEEET adaE fodt wse &L

(Gv) FE faUUAa ToSAEEd == S

4, dgedd four fo@ (SR |mw) [20]

(i) . UuewH gihdEr s

(i) ORI UEA

(iii) Wl faqear ugd

Gv) Hhda feos=n =

(v) TAEET SEhAl

(vi) Tt B Tk FoEE fwar 5o Swogmn A@wl.

[5404]-103 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-104

M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
EC-104 : Indian Economic Policy
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt all questions.
(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) State the nature of unemployment in India. Critically evaluate
the policy of central government associated with unemployment
in India.
(ii) Evaluate the performance public sector in India. Explain the

causes behind privatisation of public sector undertakings.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain in detail the problems of Education and Health in
India.

(ii) Evaluate the growth and pattern of industrialisation post-reform

period in India.

3. Answer any two of the following questions in 250 words each : [20]
(i) Explain employment generation programmes of government of
Maharashtra.

P.T.O.



(ii) Explain the nature of poverty in India.
(iit) Explain the role of public sector in India.

(iv) Explain in brief the rationale of economic reforms in India.

4, Write short notes on (any four): [20]
(i) Nature of Indian Capital Market
(i1) Demographic features of Indian Economy
(iiz) Problems of Small Industries in India
(iv) Energy Policy of Govt. of India
(v) Importance of Economic Policy

(vi) Structure of Money Market in India.

(TS BATAR)
q% : || A THUT T : 80
T :— (i) W& W Edsh  ed.
(i) IoEhel® ik YO U SFifedm.
({ii) IW AHR] F HeHe ITHE.
(jv) USHEE T TUSH UYAUAR] TRE.

1. @i IR TRl e 500 e I for@l : [20]
(i) 9RO ShNE WEY T2 H. IRAE 9 HeHid Shgemaar=
YNOTe  Siehlcdsh  HodHdT .

ooN

(i) YRAKIA WESh S HMEAE JoaHdd ®i. deEsie S

JhoU=al WSHhL0M=l hRUl T .

2, Welld HIAE TRl Y= 500 k@ IR T : [20]
() ORdda oo 9 g Geuld wHEn gfawR TR &L
(i) YRAK GURUIRR HlEerd STRINTRIwum=l &1 9 Ahday ard

HOYHYA by

[5404]-104 2



3. Wil YAl YAS! 250 Ved SW A (HvmE g [20]
() THERE IMArEn o fAfddEn dRiEw T &
(i) HRAdE TG eI TR A
(iii) YRAM Gese &= qHeT T &
(jv) YRAA ST FURUT A T .

4, dedE du @ (SR 9R) [20]
(i) YRAE Jedd daeNE  @Ed
(i) YR AT cArhaeAayTas Ay
(fii) WG oY SEN=AT qHE
(jv) YRAE el GRO
(v) offds YRUTe e
(vi) YRR Y AT &AL

[5404]-104 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5404]-105
M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
EC-105 : Labour Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.
1. Answer the following questions in 500 words (any one) : [20]
(i) Explain the nature, scope and importance of Labour Economics.
(i1) Critically examine the “Modern Theory of Wages”.
2. Answer the following questions in 500 words (any one) : [20]

(@)

(i1)

Explain the structure and achievements of Labour Unions in
India.

Take the review of wage policy in India since reforms period.

3. Answer the following questions in 250 words each (any two) : [20]

(2)
(i1)
(i11)
(iv)

Explain how Labour Absenteeism affects profitability of firm ?
Explain the concept of Minimum Wage and Fair Wage.
Explain the causes of Absenteeism of Indian Industrial Labour.
Explain the role of Labour Union in strengthening the Industrial
relations.

P.T.O.



4, Write short notes on (any four) :
(i)  Effects of Migration of Labour
(ii1) Need of Safety Net
(zi1) Exit Policy
(iv) Role of Tripartism
(v) Causes of Industrial Disputes in India

(vi) Causes of Low Labour Turnover in India.

(W& T UIR)
9% : dF d™ TRIT 0T
T :— () |d WA Hredn
(i) IoEhele 3k YO U SFifodm.
(iii)) JW TUHI 9 YT IHEE(.
(iv) TeWEd e USH YYulrRl TerE.

1. el YeEl SWO500 Ve fa@r (Rl ueR)
(i) 99 JAME WEU, A A0 Hed TR H.
(i) dadren eNYfie fagia dklcas Tda

2, Wi YAl W 500 VR fawl (FIVAED TeR)
(i) YRAE HEAR FEedAr=i AT STl a9 ¥ .
(i) GUNON HTeOUEA=l WRAE odd  om=n  SAieren =l

3, Wi YeAEl W Yl 250 Ysgid foel (SIvaEl 2F)

[20]

: 80

[20]

[20]

[20]

(i) SO TRIGHIOR SR STUfrd=n aRomMm &d Bl 7 W

&Y.
(Gi) feuam Saa nfor 9r9 9a9 W Hheudl T A
(iii) vRaWa STEifier  gfthien  sTufed=l HRO T &

(iv) SIEfe Iy doshe FHOAMR HITR G JHH T HA.

[5404]-105 2



4, dieHE dur Rl (FIUAE \9R) [20]
(1) el W giemm
(ii) Gi¥d =t TS
Gii) T g/
(iv) Tusf oeEcrEr e
(v) YRArA  STENfTeh wetErEl HRO
(vi) YRAdA A STadd HHl TUATE!  HROI.

[5404]-105 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-106

M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
EC-106 : Co-operation : Theory and Practice
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt all questions.
(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain the nature and characteristics of Co-operation.
(2) Explain in detail the broad features of Maharashtra State
Co-operative Societies Act, 1960.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Audit System ? Explain in detail the objectives of
Cooperative Audit System.

(2) Explain the progress and problems of Urban Co-operative Banks

in Maharashtra.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the importance and benefits of Co-operation.
(2) Explain the features of Co-operative Act, 1904.
(3) Explain the need and objectives of Co-operative training.

(4) Explain the role of ‘Regional Rural Banks’ in rural credit.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Principles of Co-operation
(2) Impact of Co-operative Societies Act, 1904 on Co-operative
Movement in India
(3) Functions of Co-operative Auditor.
(4) Problems of Co-operative Sugar Industry in Maharashtra
(5)  Co-operative Movement in Japan

(6) Types of Co-operative Audit.

(TS ')
9@ : dF A TeRUT TUT : 80
o — (i) WE WA e
(i) IoEhel® 3k YO U SFifedm.
({ii) SW TAHHI T WY ITEElq.
(lv) TEUEE oo TUST YYAUlAHT URIE.

1.  Woliclush! SRR TRl Y9 W 500 V[ for . [20]
(1) WP WEY d dred e &
(2) TERTE Hehll TN HEEl 1960 = 3ooch dfyrses dfakR T .

2, TEidusl RIEE Tl U SW 500 I=W faw [20]
(1) eI 9gd oS 1 7 TehRl @I Tgdre 3evd afasi
e .

(2) HENIEHE R UehRl ddhrel Wl STl THed TISeio .

3,  Eolld YAl IW DS 250 V=M fo@l (FUE ed) [20]

(1) UehRd Hed d e W H

(2) HERRI HEE, 1904 = AT TR HA

(3) UEPRl WU RS 9 e W &

(4) T AQESIdE (U T Sl yfHe T

[5404]-106 2




4, e few foer (HIUEE \w) [20]
(1) TEhREl d

(2) 1904 = WEPN T HECAE YRAGA TRl Fosdeolidl Fa
(3) WeHhKl @l &R HE

)

(4) HINSMIA TUghil TR SCUN=l  9HET

[y

(5) UMHLTA HehNl Fddws
(6) UedN T@UUuE YhKR.

[5404]-106 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-107

M.A. (Part I) (I Semester) EXAMINATION, 2018
ECONOMICS
EC-107 : Mathematical Economics
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]

(@) Find the inverse A=l for the following matrix :

4 2 5
A=3 1 8
9 6 7

(b) Marginal cost is given by MC = 25 + 30Q - 9Q2. Fixed cost
1s 55.
Find :
(a) Total cost
(b) Average cost and

(¢) Variable cost function.
P.T.O.



(@)

®)

(1)

(2)

3)

[56404]-107

Answer the following questions (any one) : [20]

Find :

(a¢) The average cost function

(b) The critical value at which AC is minimized and

(¢c) The minimum average cost for the given total cost function
TC = Q3 - 5Q2 + 60Q.

Find :

(@) The consumer’s surplus and

(b) The producer’s surplus.

Given the demand function P; = 25 — Q2 and the supply

function P, = 2Q + 1. (Assume pure competition)

Answer the following questions (any two) : [20]

Integrate the following functions :

6
(@) I 5xdx
0
10
b) j 3x2dx
0
Solve : 5x1 — 2x9 + 3x3 = 16

2x1 + 3x9 — bxg = 12
dxqy — Sx9 + bxg = 7
Find the values Py and P9 by Cramer’s rule :
7Py + 2Py = 60
P; + 8Py = 78
2



(4)

Find the “equilibrium” price and quantity for the following demand

and supply functions :

(a) Q, = — 20 + 3P
Qg = 220 - 5P
®) Q, = — 45 + 8P
Qg = 125 — 2P
4, Answer the following questions (any four) : [20]
(1) Solve : 3x + by = 34
x +y=28
(2) Find determinant |A| for :
2 5
A = 4
7 1
(3) Given the demand function Q = 250 — 2P; derive the inverse
demand function.
(4) A firm has fixed costs of T 1,22,000 and variable costs of
¥ 750 a unit. Determine the firm’s total cost of producing :
() 25 units and
(b) 50 units.
(5) Find MR; if TR = 12Q - Q2
(6) How much interest will be earned on ¥ 1,250 for four years
at 12 percent ?
[5404]-107 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-108

M.A. (Part-I) (First Semester) EXAMINATION, 2018
ECONOMICS
(EC-108 : Demography)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt all questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) What is demography ? Explain its nature, scope and importance.

(1) Explain in detail the different measures of fertility rate of

population.

2. Answer any one of the following questions in 500 words : [20]
(i) Examine the population trends in recent years in India.

(ii) Evaluate the Indian Population Policy.

P.T.O.



3. Answer any two of the following questions in 250 words each : [20]
(i)  Critically examine the Optimum Theory of Population.
(i1) Describe the factors affecting quality of population.
(ii1) Explain the importance of women empowerment for economic
development.
(iv) Explain the Human Development Index.
4, Write short notes on (any four) - [20]
(i) Gender equality rate
(iz) Birth rate and Death rate
(iit) Population Policy on Health
(iv) Infant Mortality
(v)  Growth of population in developing countries.
(W& wuTaR)
q% : dF A THUT TUT : 80

oAl :— () Wd Uvd Oefan savgs R

1.

(i) SSEleld 3 YU O SRiferdr.
(iii) SW "HH! o HLHS SHE.
(iv) TEHEE! H@ TUSH IR TRIE.

TIHAUH! HIVATR Tehl Y W 500 F=[ gl : [20]
() TAHEERTE WIS ®E ? " WEY, AWl 9 Hew TR &

(i) TAREEA JIHH <=l HUkEl gfaEy == .

[5404]-108 2



2. WClicUsh! HIUAE Wl YeI= SR 500 @ foer [20]

(i) YRAda deger=n sifaweld dedd Jaxie gden &

(i) YRA TREEd  HRUTd [oIHTI S

3. WoidUsh! SIS a geEl W Ul 250 V=S| fowr [20]
(G) AhEErs ‘v fagiam’ fewmrHs Thgw

(i) TIhEE TUERER URUM HIOMAT SSHhi= v .

(i) onffer fosrmEeRdal i Hedieiond Hewd favie &

o o

(Gv) WHet faemm fAdvmes T &

4. dieRd SW el (FOEN W) [20]
(i) T TORR FEE
(@) THR T JIX
(iii) SRFATEEIER RS HR0

(Gv) TRTEAT AN IWE =l

(v) WY

(vi) foRaTRia <M AhTE TGl

[5404]-108 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5404]-201

M.A. (Part-I) (Second Semester) EXAMINATION, 2018
ECONOMICS
[EC-201 : Micro Economics Analysis-II]
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt A/l questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one question in 500 words : [20]

(i) What is Discriminating Monopoly ? Explain the types of price
discrimination. State how firm attains equilibrium under

Discriminating Monopoly ?

(i1) What is Monopolistic competition ? Explain equilibrium of the

firm and group under Monopolistic competition.

P.T.O.



2. Answer any one question in 500 words : [20]

(i) Explain in detail Baumol’s Model of Sales Revenue

Maximization.

(ii) State the Marginal Productivity theory of distribution and

critically examine it.

3. Answer the following questions in 250 words each (any two): [20]
(i) Explain the equilibrium under Discriminating Monopoly.
(ii) Explain Euler’s Theorem.
(ii1) Explain the excess capacity under monopolistic competition.

(iv) Explain Modern Theory of Rent.

4, Write short notes on (any four) [20]
(i) Features of Duopoly
(ii) Types of Price Discrimination
(ii1) Risk and uncertainty theory of Profit
(iv) Superiority of IS-LM Model
(v)  Morris’s managerial model of the firm

(vi) Conditions of Pareto Optimality.

[6404]-201 2



AD

IRkl

(WS BUIM)
LiEIc| THUT TOT : 80

— (i) w|d Yy dredn

(i) STEvIs dd gah SThcAl hlal

(iii) JW Al o HeHS STHEN.

(iv) WIWES H& ST TRAATHT TRTE

TIHAUH! HIVATR Tehl I W 500 V=@ gl : [20]

(i) ToucTTs FaRe BN S ? JeaNerEl YR AT &L fauRas
TRERIdid ®H 9 &dl 9T &idl d T &,

(i) THRCRIE Wl WIS &F ? TRERgR e Sagaaeen eaf

g 9 gudid WS hL

TIHAUH! HIVAR Tehl I W 500 I=@ foaal [20]
(1) ISHed fam-Uredl HeaHeel gfaae gfail e A

(i) foursmrEn Hiwid Sacwd fagid ArE @e dercas Theu w4

Gl Y9l Yokl 250 VSd S fogr (Svael d9) [20]
() TI9STH® URERdIA THA T H.
(ii) I YHA T A

(iii)) WHGRIgH wWeda ifded &mar e &

(jv) wer sMyfe fagia T+

[5404]-201 3 P.T.O.



4. dieRmd da farr (RUEE | mw) e [20]
(i) fefashafusrr=t afir=
(i) VIHSH YhN
(iii) Tomn e enfon stfafveaa fasia
(v) IS-LM 9 93
(v) HREE JEAEHEE  FEEAE GidHH
(vi) WA TEdd freRw.

[6404]-201 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-202

M.A. (Part-I) (II Sem.) EXAMINATION, 2018
ECONOMICS
(EC-202 : Indian Public Finance)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) What is Budget ? State and explain the various components
of Union Budget.

(2) Evaluate the direct tax reforms in India.

2. Answer any one of the following questions in 500 words : [20]
(1)  What is Fiscal Policy ? Explain in detail the objectives of India’s
Fiscal Policy.
(2) State and explain trends of different types of deficits since
1991.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the nature of Centre-States conflict on finances.
P.T.O.



(2)  “Burden of public debt on Indian economy is increasing.” Comment.
(3) State the meaning and objectives of Deficit Financing.
(4) Critically examine the recommendations of Twelfth Finance

Commission.

4, Write short notes on any four of the following : [20]
(1) Presentation of budget
(2)  Automatic Stabilizers
(3) Vertical and Horizontal imbalance
(4) Reforms in indirect taxes
(6)  Principles of Federal Finance

(6) Balanced Budget Multiplier.

(AE wuiav)
% : dF A THUT T : 80
T :— () |a WA Hiedn.
(i) SSElherd 3 qul o geifadn.
(iii) WU HB TUSH FLTUAHT TR,

1.  Weiicus! HIVER TRl Y™ SW 500 [ fagl . [20]
(1) IIEFH TS HE? Had ALGhRea fafay sew @ 9 e w7
(2) YRAM Y& o GURUE HoIddd .

2, Weiiclie! HIVER! TR Y9 SW 500 I faql . [20]
(1) T fOcia 9R WSl & ? YRAr=A T foxita gRom=t 3fese forgaan
s h.

fa} N N

(2) 1991 UAY T N YRR AT 9 TR H

[5404]-202 2



3. Wed HIUME dF YAl S e 250 Vg TRl [20]
(1) foaEcTEld ®5-T 99U @&Y W B
(2) “9RdE AdTTEelild GeSie helEl YR dled TR, ==l
(3) qerenm AdwRuarEn Y emfur e =AML

(4) e fou Erm=n foreRei= femrds 9hemr &

4, diegd du foRr (AR Aw) [20]
(1) SRSUHE GREAH
(2) T T
(3) WYH® o9 HHUCS STHAAA
(4) SUEY HIAAIA  FHROM
(5) wHg fouamt d@

(6) W{Wld 3IeTesIeh TUTeh.

[5404]-202 3



Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [5404]-203

Time
N.B.

M.A. (Part I) (II Semester) EXAMINATION, 2018
ECONOMICS
EC-203 : Indian Agricultural Problems and Policies
(2008 PATTERN)

: Three Hours Maximum Marks : 80
:— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.
Answer any one of the following questions in 500 words : [20]

(i) Explain the recent policy of Ceiling on Land holdings.
(ii) Assess the impact of Mechanization on Agricultural Labour in

India.

Answer any one of the following questions in 500 words : [20]

(i) Explain the causes of low efficiency of Agricultural Labour in
India.

(i1) Explain the recent changes in Agricultural Export-Impact Policy

in India.

Answer the following questions in 250 words each (any two) : [20]
(i) Explain the recent Agricultural problems in India.

(i1) Examine the SEZ policy in India.

(ii1) Explain the importance of Employment Guarantee Scheme.

(iv) Explain major issues relating to Agricultural subsidies.

P.T.O.



4, Write short notes on any four : [20]
(i) Problems of Indian Agricultural export
(ii) Unemployment problems
(itz) Agricultural problems in Maharashtra
(iv) Efficiency of service sector and Indian Agriculture
(v) Agreement on Agriculture under W.T.O.
(vi) Recent Indian Agricultural Labour Policy.

(W& T UIR)
q@ : dF A TeRUT TUT : 80
M :— (i) W& W eI ed.
(i) Ioehel® ik YO U Fifodm.
(iii)) JW THHI 9 YT IHEE(.
(iv) TeWEd ¥ SUSH YYulrhl TRl

1. el HIOAEl Tk I99 500 ¥ea[ dredl [20]
(1) HHE STHHEAYRONISEe  Efkdidial 80 T .

LTS

(i) AR FOMH ARAE AU FAciedl IROMEE Hedqa .

2, Weliciieh! HIUMAEN Uk U9 500 IS dredl [20]
(i) ORAE AU AIREGHIE PR TR FH.
(i) YRdE Y FE-aEa dRorde sifaseid Sledial aea T
F.

3. Wid YAl Y&l 250 & SW el (FivdE gF) [20]
(i) YRAE I Afheld HBMd IR T H.
(i) YRada ‘fave e &3 dRU T .
(i) USMR BH ISHA HEd T h.
(lv) FH FEFEN Heuld Afdweia Fedd Y& IO TR &

[5404]-203 2




4, < fa@ (SUEE 9w) [20]
(i) YRdE Fe = g9

(ii) SI=T THE

(iii) WRNSICi 6ot HqHE

(jv) TN FPEAFHA AT IRAE At
(v) SIIfde AR GeEA= Jdfaeas R
(vi) AfTRSld Hleoldiel ARAEI IAHSK  HIROL.

[5404]-203 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-204

M.A. (Part-I) (I Sem.) EXAMINATION, 2018
ECONOMICS
(EC-204 : Industrial Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i)  What is Industrial Economics ? Explain the need and significance

of the study of Industrial Economics.
(it) Give a brief account of industrial imbalance in India. What

are its causes ?

2. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the Industrial Policy 1991.

(i1) Write a detailed note on the various sources of Industrial Finance.

3. Answer any two of the following questions in 250 words each : [20]
(1) What are the factors affecting productivity and capacity utilization ?
(it) Write a note on the problems of small scale industries.
(ii1) Explain the factors influencing location of industries.

(iv) Explain ‘Sargent Florence Theory of Industrial Location.

P.T.O.



4, Write short notes on (any four) : [20]
(i) Tools of Productivity
(ii) Role of Multinational Corporations in India
(iti) External Commercial Borrowings
(iv) Industrial Monopoly
(v)  Scope of Industrial Economics

(vi) Need of balanced regional development of industries.

(TS ')
9@ : diM A THUT T : 80
ol :— () 9d WA gedn
(ii) oS s qu U Ieifaan.
(iif) SW AHGKI 9 HLgS SAGmEd.
(lv) TEUEE oo TUST YYAUlAHT URIE.

1. Geiads! HIUAR TRl I I 500 &M@ fomar : [20]
(i) 3AENfier srefome =US S ? RN ST ] SEvehd]
T e TR
(i) YRAdel SRR STHdie=n e Td Teldl =41, =t ol ShivKd
JMed ?

2, Weiiclie! HIVER! TR Y9 SW 500 I faql . [20]
(Z) 1991 A Fanfied dRw gfowR T &
(ii) ol fam qacaren fafay didieea afaww feu famn

3. et HIUE S YRl ST WAH! 250 IS forer [20]
(i) 3AEHA T &Hal [IF-ErmeR gRom HRUR ¥EHh iU ?
(ii) oE=EEn gEEeR fewr fomn
(iii) SENT=A TEIHIumel. IROMH &0R ¥ T &

(iv) 9nle wARE I=n AEnfer wenfEiwom=n faga e =

[5404]-204 2



4, dreRm@ du T (FivdE |w) [20]
(i) SHGHd AU FEH
(ii) 9RAWA SgUsed shuwarE  YfHen
(iii) THE U el SHRO
(iv) STafe Heer
(v) oieEnfier st T

(vi) A=A Gdfad UeEhe fasmEm=i TR

[5404]-204 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5404]-205
M.A. (II Sem.) EXAMINATION, 2018
ECONOMICS
(EC-205 : Rural Development)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words : [20]

(2)

(i1)

Describe the structure of rural economy in India. Explain the
scope and importance of rural development.

Comment on nature and causes of rural poverty in India.

2. Answer any one of the following questions in 500 words : [20]

(2)

(i1)

Evaluate the contribution of irrigation in India’s rural
development.
Explain the causes of rural poverty and explain measures adopted

by Government of India.

3. Answer any two of the following questions in 250 words each : [20]

(2)
(i1)

(ii1)
(tv)

Explain the problems of rural industrialisation in India.
Explain the nature of employment opportunities in unorganised
sector.

Comment on the failures of green revolution in India.

Explain the performance of Tribal Development Programme.

P.T.O.



4, Write short notes on any four in 100 words each : [20]
(i) Employment Guarantee Scheme
(i) MFAL
(ii1) Agrarian reforms
(iv) Features of V.M. Dandekar Approach
(v) Role of SHG’s in eliminating Rural Poverty

(vi) Role and problems of rural transport.

(TS E'UIaR)
9@ : dF A THUT TUT : 80
I — (1) WS WA AE¥FE R
(i) SRS 3w YA YO IO e
(iii) TRUEE T3 TUST YTAULART TEE.

1. Trelddsl IR Tl J9E SW 500 VK[ fae [20]
(i) YRAA U e Y AU Y. AT fashrErE STt
ST Hgedl T .
(ii) YRAe T SREEe WEq Ul hRU FeR Wi h.

2, Eciade! HIVEE TRl JE SW 500 VK[ fa@ [20]
(i) YRaren T foeEdd Safded AeET aer S
(i) YRATdE TTHOT STRGIM=AT SRR 9T . YRd TLhRA TG e
STRTA A0 3Y™ T L

3, Teiidisl IR EF Al SW g 250 W[ foel [20]
(i) YRAnE uHr siEifireieore=n Iqe W &
(ii) A9 e TSR G WEY o .
(iii) WRAIA BRAPe  STYIRIER 9T h.

(jv) onfeardt fom™ FHEFHHART HMEART W HA.

[5404]-205 2



4, EEAAUH HIEE AR dew[ fon fomr (wEw 100 w=ww@) : [20]
(i) TSR =t A
(ii) TWHIHR.TTA. (MFAL)
(i) F Fewo
(jv) H.TH. TESH TRIGBAET Al
(v) THU TG FHH FOAME EI-HEEA Ter= e
(vi) T TR HHE S0 YfHL

[5404]-205 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5404]-206

M.A. (Part-I) (I Sem.) EXAMINATION, 2018
ECONOMICS
(EC-206 : Computer Application in Economic Analysis)
(2008 PATTERN)
Time : 2% Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iizt) Answer should be precise and to the point.

1. Attempt any one of the following : [1x15=15]
(1) Explain B2C, B2B, G2B and C2C model with suitable example.
(it) What is electronic trading ? Explain different steps of trade

cycle.
2. Attempt any one of the following (A or B) : [1x15=15]
(A) (i) Explain the advantages and disadvantages of online
shopping. [8]
(it) What is GUI ? Explain the features provided by windows
operating system. [7]
Or

(B) ()  What is computer ? Explain the block diagram of computer.[8]

(ii) Explain the use of Internet in Research and Business.[7]

3. Attempt any three of the following : [3x5=15]
(i) Explain the different applications of network.
P.T.O.



(i1)

(ii1)
(tv)
(v)

@)
(i1)
(1i1)
(iv)
(v)

[5404]-206

What is electronic marketing ? List the advantages of electronic
marketing.
Explain the difference between Hardware, Software and firmuare.

Explain the difference between WWW and Interned.

Explain electronic transaction with suitable example.

Attempt any three of the following : [3x5=15]

Explain different types of menu in windows XP.

What is MS-chart ? Explain the steps for creating a bar chart.
Explain any two output devices.

What are the advantages of electronic trading ?

What are the advantages of online shopping.



Total No. of Questions—4] [Total No. of Printed Pages—5

Seat

No. [5404]-207

M.A. (Part-I) (II Semester) EXAMINATION, 2018
ECONOMICS
(EC-207 : Statistical Techniques)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one of the following : [20]
(a) For the following data showing index numbers of prices and
productions for 5 years, find two regression lines and show

that bl = r2 :

Index Numbers of

Year Production Prices
1987 100 107
1988 101 123
1989 106 133
1990 99 109
1991 97 128

P.T.O.



(b) Calculate the mean, median and S.D. for the following

data :
Class Interval Frequency
50-60 4
60-70 16
70-80 36
80-90 52
90-100 64
100-110 40
110-120 32
120-130 11
2. Attempt any one of the following : [20]

(@) A factory claims to produce a lower average number of defectives
compared to the prevalent average of 305. A random sample

of 100 defective articles from this factory showed the following

distribution :
Class Limits Frequency
1620 12
21-25 22
26-30 20
31-35 30
3640 16

[5404]-207 2



(b) The annual trend equations for consumption of butter (in kgs)
for three districts I, II and III respectively are given below.
Comment on the pattern of change of consumption over time

for each district :

@ Y, = 200 — 0.012¢
(i) Y, = 225 (1.015)t
i) Y, = 250 (0.978)t
3. Calculate any two of the following : [20]

(a) Calculate the coefficient of correlation for the ages of husbands
and wives :

Ages of Husbands Ages of Wives

23 18
27 22
28 23
29 24
30 25
31 26
33 28
35 29
36 30
39 32

[5404]-207 3 P.T.O.



(b)

(c)

(@)

)

(c)

[5404]-207

The research unit in an organization wishes to determine whether
the scores on the scolastic aptitude test are different for male
and female applicants. Random samples of applicants files are

taken and summarized as below :

Applicants
Female Male
X = 502.1 X= 5105
SD = 86.2 S.D. = 904
n = 399 n = 204

Using the sample data test the null hypothesis that the average
score is the same for population of male and female applications.
Use 5% significance level and assume that the scores are normally
distributed in each case.

In a city 325 men out of 600 men were found to be smokers.
Does this information support the conclusion that the mojority
of men in this city are smokers ? (State the hypothesis clearly

and test it at 5% and 1% level of significance). Comment.

Attempt any four : [20]

Discuss the large sample test for testing the equality of two
population means.

Explain the difference between statistics and parameter as used
in sampling survey.

Cost of living index numbers is essentially a consumer price

index. Discuss.



(d) Write merits and demerits of arithmetic mean.

(e) What is meant by time series analysis ? Discuss its importance
in business.

(/) In a single throw with two unbiased dice find the probability
of throwing :
(i) Five

(zz) Seven

[5404]-207 5



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5404]-208
M.A. (Part-I) (I Semester) EXAMINATION, 2018
ECONOMICS
(EC-208 : Community Development and Planning)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.
1. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the determinants of development.
(it) Explain population and social policy in Indian context.
2. Answer any one of the following questions in 500 words : [20]
(i) Explain the theory of uneven and combined development.
(it) What is Social Planning ? Explain the need of social planning.

3. Answer any two of the following questions in 250 words each : [20]

(@)
(ii)
(ii1)
(iv)

What is Community Development ?

Explain the Marxian Theory of Social Development.

Write in detail the concept of Asset Vulnerability Framework.
Discuss in brief the relationship between overseas development

assistance and planning.

P.T.O.



4, Write short notes on (any four) : [20]
(i)  Public sector and economic development
(i1) Social Capital
(iit) Collective Behaviour Theory
(iv) Religious values and economic organization
(v)  Redistribution with growth

(vi) Basic human needs.

(WS BATAR)
9@ : dF A THUT TUT : 80
I — (i) WS WA green
(i) SodES FE ol e awifEEm.
(iii)) JW TUHI 9 HEYS IHEE(.
(jv) TRUERE o TUST YYAUlAh] TRTE.

1.  Weitclush! HIVER! TR Y= SW 500 [ fagr . [20]
(1) foemm frue afosm T S

(ii) YRAreA Tevld dieede Sfor TS 9R0 T

2. TIeldus! HIVAR TR Y IR 500 @ foer : [20]
(i) foum anfor wesiia fowmmmn faga T &

-

(ii) TSR IS Wus ™ ? giSe FESEEl RS TS

3, Welicus! HIWE M el SR TS 250 V| fawr [20]
(i) YA fawM WS &wE?
(ii) Hg=n gMitee foemmEn faga e &
(iji) HOHE HAfRAl REel quiiames ol
(iv) formmERE faceht wera suftn friee amdia d9au=l dedma ==

<h .

[5404]-208 2



4, dieHd du fa@ (FUER \R) [20]
(i) GmitSer &= oTfr smfYe foeera
(i) SIS Hiead
(iii) & adqrn fagm
(iv) wifds T ofor smfdes  ween
(v) dfga gAaiey
(vi) HAYd HHS T

[5404]-208 3



Total

No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5404]-301

Time
N.B.

M.A. (Part II) (III Semester) EXAMINATION, 2018
ECONOMICS
EC-301 : Macro-Economic Analysis—I
(2008 PATTERN)

: Three Hours Maximum Marks : 80
:— (1) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(1) Explain with diagram two-sector, three-sector, and four-sector
model of the circular flow of income.

(2) Explain Relative Income Hypothesis of consumption.

Answer any one of the following questions in 500 words : [20]
(1) Explain Keynesian psychological law of consumption and its
implications.

(2)  What is ‘accelerator’ ? Explain its effects on investments.

Answer any two of the following questions in 250 words : [20]
(1) What are the factors affecting marginal efficiency of capital ?
(2) State RBIs approach to money supply.

(3) Explain Liquidity trap and its implications.

(4) Explain the cash balance approach of quantity theory of money.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Leakages of Investment Multiplier
(2)  Accounting of flow of funds
(3) High-Powered Money
(4) LM Curve
(6) Life Cycle Hypothesis
(6) Cambridge Equations.

(W& i)
% : dF A THUT T : 80
o :— (i) |E WA gredn
(ii) IoEhele 3k YO U SFifodm.
({ii) W AHR] F HeHS ITHME.
(iv) oAEwgs @ SRl goh kAT hlal.
(v) USHEE Too TUSH ULAUAR] TRME.

1.  Tclicieh! SR Tkl 9= IW 500 ¥eaid faar : [20]
(1) 3UATAT IR JARME SH-&E, dH-85a o ar-&=itg gfaws
ShIqHE T .
(2) SUHATET WU SO URGedT TR H

2, WAl HIER TRl M W 500 <@ forel [20]
(1) o= SuYrTHEd=n AERTSiy faga T e A giaad o
ERY

(2) ‘T’ WUN &M@ ? WAl AU iadd aieme s &

3. Weid YeAEl W 250 V[ foRl (SRl gF) [20]
(1) oiegar=n HiHd SEgHdaR IRoM HOR FEh  HId 7
(2) Ted dF=r Temen qRacaEl TRRH 9L

[5404]-301 2




(3)
(4)

(1)
(2)
3)
(4)
(5)
(6)

[5404]-301

JEal d9a oTful e sTadid T .

JegemH  fagaen @ feas gRieE e &

gregd feqr fagr (SRl =9mw)

Tqeeh  TOTeRT= T

faeft yare e
ToavTERT T
TOl.UH. 9%
SiaM =sh  UReheyHl

Shisisl  GHteRI.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5404]-302

M.A. (Part-II) (Third Semester) EXAMINATION, 2018

Time :

ECONOMICS
(EC-302 : Economics of Growth)
(2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.

(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1)

(2)

What is economic growth ? Explain the factors affecting economic
growth.
Explain the Malthusian theory of Development.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Explain the Schumpeter’s Theory of Development of capitalistic
economy.

Explain Mrs. Joan Robinson’s Economic Growth Model.

3. Answer any two of the following questions in 250 words each : [20]

(1)
(2)
3)
(4)

Explain the Growth Model of Kaldor.
Explain the characteristics of growth.
State and explain embodied and disembodied technical progress.

Explain the theory of social change.

P.T.O.



4, Write short notes in 100 words each (any four) : [20]
(1) Imperfect market paradigm
(2) Meade’s growth model.
(3) Innovation
(4) Intellectual capital
(5)  Growth model of Pasinetti
(6) Capital controversy.

(W& wUia)
q@ : dE A THUT T : 80
AT :— (i) WA YA AAvEAE  3ATed.
(i) U= IEhele 3T qU IO geifodm.
(iii) STevash d9 Yook 3ThHcAl Il
(lv) USHEE T TUSH YYAUAR] TRE.

1. WSAUH! HIER Thl T 500 Ie@ S faer [20]
(1) e gfg =oN & ? oWfYw ggieR URUM FUR HEh TR
.

(2) He" I onfde faw fagam favasor .

2. WSAYD! IR TR YE IR 500 V<@ forRr [20]
(1) wicaaar! sdegaed=n fowmmEn e a=n faga T &

2) g Sm e 9= onfdes 3ot afaum o= &

3. WHAUR! HIUAR SF YA SW AR 250 V[ fawr [20]
(1) HeeR I Fg Ffauw fave &
(2) JIr TR TR H
(3) oYd offr fovR Y@ qifw W WEM 9 R R
(4) Smifes acaren fag@a fave =

[5404]-302 2



EISAUR! RV FReR Gaht 100 g dar fomr . [20]
(1) Y0 SR dEyoTe

(2) e = gg gfau

(3) TGS

4) g% Higad

(5) Uit W= omf¥e g&r gfawm

(6) wicad foiwmvm.

[6404]-302 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-303

M.A. (Part-II) (Third Semester) EXAMINATION, 2018
ECONOMICS
(EC-303 (A) : Research Methodology)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i)  Define Research. Explain the importance and difficulties in social

science research.

(i1) What is case study method ? Explain the advantages and limitations

of case study method.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the stages in Report Writing.

(ii) Explain the merits and limitations of observation method in

collecting data.

P.T.O.



3. Answer any two of the following questions in 250 words each : [20]

(i) Explain the importance of primary data.
(i1) Distinguish between the simple hypothesis and composite
hypothesis.
(ii1) Explain the measures of central tendency.
(iv) Evaluate the importance of chi-square method.
4, Write short notes in 100 words each (any four): [20]
(i) Importance of graphs and diagrams
(ii) Limitations of secondary data
(iit) Computer as a tool in research
(iv) Techniques of Interview
(v) Advantages of computerised data processing
(vi) Types of samples.
(& wuiav)
q@ : dE A THUT TUT : 80

gol :— (i) ®Wd TR greEan

(ii) Sl 3 YU IO SRiferr.
({ii) SW THHI o HeHS G

(lv) TSIt Yoz TUSH WIAUMIHRT TRrEl.

1. Telicis! HITAR TR T S| 500 ¥&@ foa@r : [20]

(2)

(i1)

[6404]-303

GYNYART e . 9IS I S9eA "eed STIfor TSl
fage =1

g AT USdl WUN hE ? GeH A Ugdd WEe 9 "Wl
W




2. WEladh! SR WeRl U= W 500 v ferer : [20]
() HIMYA 3TRdd EAdia fafay v gfasaw auH .

(i) Tifedt Hepemren A€W Tgd= U sl WAl fave @

3. iUl HIEl QM YT ST YS! 250 IS o [20]
() o deuE Hed W .

(i) WY TEask ol T TEIae Aia ®ieh |

(i) H=F YIda AU T B

(iv) HEA-WESR = Hgod HeIHIT  H.

4, YAH 100 V<[ dieRd A fo@ (et |mw) e [20]
(i) oo ST SThce W
(i) THW qA= HARI

(jii) GO HYNEAT Uk 9ied
(jv) YrEd A
(v) GURIEd 9 YiEIE EER

(vi) LA YhR.

[5404]-303 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-304

M.A. (Part-II) (Third Semester) EXAMINATION, 2018
ECONOMICS
(EC-303 (B) : Econometrics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

(v) Symbols have their usual meaning.

1. Answer any one of the following questions : [20]

(@) The following table gives the wheat yield and fertilizer usage
on 10 plots of land :

Wheat Fertilizer
(Y;) X5
40 6

P.T.O.



)

(@)

[5404]-304

44 10

46 12
48 14
52 16
58 18
60 22
68 24
74 26
80 32

(i) Estimate the linear regression of Y on X.

(ii) Test the significance of the regression coefficient at 5%

level of significance.

What is autocorrelation ? Discuss sources, consequences and

remedial measures of autocorrelation.

Answer any one of the following questions : [20]

Write consumption functions for peace time and one for war
time, if C = consumption, Y3 = disposable income, and
D = 1 for war years and D = 0 for peace years; showing
a change in intercept dummy, slope dummy and intercept and
slope dummy variable. Also draw figures, for each of the

consumption functions.



)

(vi)

[5404]-304

Compute the correlation coefficient (Pearsonian) between X and

Y provided below :

X Y
167.8 260.8
173.1 272.8
176.2 285.6
180.0 297.1
186.2 310.1
190.7 323.2
195.2 336.2
3. Attempt any two of the following : [20]
(a) Explain the causes and consequences of heteroscedasticity in
the regression model.
(b) State the assumptions of ordinary least squares method.
(c) Explain the method of detecting autocorrelation.
(d) Explain rank and order conditions of identification in simultaneous
equations model.
4, Answer any four of the following questions : [20]
(i) Explain Indirect Least Squares method.
(i) State different models of time series.
(ii1) Explain R2 and adjusted R2.
(iv) Explain Goldfeld-Quandt test for detecting heteroscedasticity.
(v) Explain type-I and type-II errors.

Explain the methodology of econometric research.

3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-305

M.A. (Part II) (III Sem.) EXAMINATION, 2018
ECONOMICS
(Optional Paper)
(EC-304 : Banking and Financial Institutions)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]
(i) Explain the structure and role of Financial System in India.

(i1) Explain the Banking Sector reforms in India after 1991.

2. Answer the following questions in 500 words (any one) : [20]

(i) Evaluate the role and performance of Industrial Development
Bank of India.

(i1) Discuss the functions and working of Asian Development
Bank.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the functions of Financial Sector.

P.T.O.



(ii) Explain the objectives of Monetary Policy.

(ii1) Explain the significance of Non-Banking Financial Institutions

in India.

(iv) Explain the functions of Foreign Exchange Market.

4, Write short notes on (any four) : [20]
(i)  Financial Market
(ii) Co-operative Banks
(iti) Mutual Funds
(iv) Euro Dollar Market
(v) Commercial Banks

(vi) Foreign Capital.

(W& T UI)
q9B : WA qw THUT TUT : 80
O :— () WE URA e
(1) oEHerd ik quf o guifedm.

({ii) IW Hhl o HESYHS STHMEI.

1. G| g9l SW 500 Y= fa@ (FUEE ) [20]
(i) YRAe foxegaea=t @ 9 e T H
(i) 1991 aCAT YRAIA ShFT &AM IR T .

2. Weld YEAET SW 500 V| felel (el ) [20]
(i) YRdE siEnfie fawE de=t yfHe 9 HEAHE JoaHd &

NN

(i) oMy fah™ b=t & 9 wEUSAET =l HA.

[5404]-305 2



8. Woiid g3l I Tkl 250 Yeeid forgl (R0 aF) [20]

~ n ~

() fog o=l & W &9
(ii) FoFfgugs YRom=l e T FHA.

(iii) YA dody fadia §¥E A8 W &L

Gv) Yo Jod fafma IorEr s s w9

4, deHE AW faw (FvEE 9w) [20]
() fodtg R
(i) FEHR Henl

(fii) ey faed
(iv) JU TfR dNR
(v) R T

(vi) focsft weaa.

[5404]-305 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-306

M.A. (Part II) (III Semester) EXAMINATION, 2018
ECONOMICS
(Optional Paper)
EC-305 : Welfare Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt A/l questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What is Pareto Optimality ? Explain briefly the conditions of
Pareto Optimality.

(i1) What is Consumer’s Surplus ? Explain in detail Marshallian

Consumer’s Surplus.

2. Answer any one of the following questions in 500 words : [20]

(i)  What is utility function ? Explain issues in interpersonal comparison

of utility.

(ii) Explain in detail Samuelson’s Utility Possibility Curve.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain Scitovsky’s double criterion.
(ii) Explain Pigovian welfare economics.
(ii1) Explain the concept of community indifference map.

(iv) Distinguish between private costs and social costs.

4, Write short notes on (any four) : [20]
(i) Arrow’s impossibility theorem
(i1) Marginal cost pricing
(iit) Dynamic welfare analysis
(iv) Burgson’s social welfare function
(v) Concept of contract curve

(vi) Marshallian welfare economics.

(S waia))
9% : 9 a™ THUT TOT : 80
o :— () WE URA e
(ii) 3SSEheld &k YO O Riform.
(ii) IW Al o HESYS SHMEN.

(jv) TEIEIS Yoo TUSH YYAUCIRT TRTEl.

1. Tcliclus! HIVEE TRl Y 500 ¥ W fal . [20]
() TR TRAEA WUS kI ? Rl SRHIS A el TR
T
(1) SUNEETE AW WUS i ? ARiA g™ SUdeRar™ Tariee
ik T .

[5404]-306 2



2. WClcish! HIUARI TRl Y= 500 ¥& IR ferer [20]
(i) SR %l WUS HE 7 SUAINIE Saif 9uEl TR 6.
(i) UHUAETA IYAAT Il ok Gfa T .

3. Weiid YT YAl 250 I SW folel (hIvmEl @) [20]

o haN o o

(i) TeRdmwh=n @O My T 3.

(i) Tug = FeAvEERl HAAS T H

(i) TTHIfSIeh THIR ThIM Gheddl T .
(jv) TSl Td oA wEfSe @€ Ad 98 6

4. dieHE du Rl (FUEE 9R) [20]
(i) = swEEd fagr
@) HHm " gea fuRo
(iii) THE e favereo
(jv) EA F= HHENTER HAT  FHoH
(v) Hf9ET aF  Hehed
(vi) WA I FHAERRT ST,

[5404]-306 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-307

M.A. (Part II) (III Sem.) EXAMINATION, 2018
ECONOMICS
(Optional Paper)
EC-306 : Economics of Finance
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt A/l questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the forms of efficient market hypothesis.

(ii) Explain in detail the role of SEBI in stock market.

2. Answer any one of the following questions in 500 words : [20]

(i) What is derivative market ? Explain the types of derivative

market.

(ii) State and explain mechanics of swaps.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the problems of stock market.

P.T.O.



(ii) Explain the types of stock flow.
(iit) Explain the mechanics of commodity future.

(iv) Explain the role of speculators in capital market.

4, Write short notes on (any four) : [20]
(i)  Arbitrage
(ii) Corporate securities
(iit) Concepts of cash flows
(iv) Net present value
(v)  Asset return

(vi) Over the counter market.

(TS wUiaR)
9% : 9 a™ THUT TOT : 80

g :— () wd Y Hiean
(i) oS 3T gui o geifadm.
(iii) IW THHI o HILHS AT
(iv) WU T TUSH WITAIRI TRIE.

1. Teliads! HITAR TRl U 500 &M S fa@l : [20]

(i) wEgH INR TRAHE THR FaER TR H

({i) WM SR et qfye diowl T 6.

2. Welaysh! HIUAR Tel Y99 500 I&EM[ SR forer . [20]

(i) SSNd SNR RWUS A ? TS dNE YRR T h
(ii) SISAEEArEl IS0T G 9 TIR H.

[5404]-307 2



3. Wefia UEAE SWOUET 250 Y fawl (RIURE 9F) [20]
(i) AN INIRAE TR WS
(i) U@ YaRH YHR T H.
(iii) % @SR IFA7 GiowR T H.

(jv) WeTd AERMA Feearsr= gkl e HJ.

4, e AU fawr (HIdE |9w) e [20]
(i) HAIR 9UE
(i) oA gfayd

(i) UG Ydg ThodHdl

(v) T Td H g

(v) HITHAl 9T

o

(vi) g fafa 9IeR.

[5404]-307 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5404]-308

M.A. (Part II) (III Semester) EXAMINATION, 2018
ECONOMICS
EC-307 : Economics of Environment
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt A/l questions.
(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is Environment ? Explain the different types of
environment.

(ii) Explain in detail the effects of climate change on global
economy.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain the instruments for controlling water and air pollution.

(ii) Explain the theories of optimal use of exhaustible and renewable
resources.

3. Answer the following questions in 250 words each (any two) : [20]
(i)  Explain the mechanism for Environment Regulation in India.

(i1) Explain the role of environment education in controlling
pollution.

(iit) Explain the benefits of social forestry.

(iv) Explain the new model of pollution control.
P.T.O.



4, Write short notes on (any four) : [20]
(i)  Environmental Values
(it) Grassroot movement for Environment Education
(iii) Household Production Model
(iv) Air Pollution
(v)  Sustainable Development

(vi) Human Capital.

(TS ®UI)
% : d A TEHUT T : 80
ge :— (i) Wd YA gedn
(ii) SSEheld 3k YO O Fiforr.
({ii) SW THHI o HGHS G
(iv) TEHHEE! H TUSH IAUAHT TRIE.

1. TclicUs! HIVEE TRl Y W 500 [ faar . [20]
(I) TUIERY WUN % ? YFioRume fafday geR s &L
(ii) OIdERUNdA sgedd SATfaeh  Adegeodadial IRomy gfay T &

2. WCiclish! ®HIVART TRl Y= SR 500 i ferer : [20]
(i) A YgUU d TAl YU TESOTE WigH WS &
(i) FRTIIEO GHEH S0 qAessiad Garee i<l arsiel SUanT v Hidre
fagia = =

[5404]-308 2



8. Wi gyl W Ui 250 e gt (FRIUael a@e) [20]
(() YRA ggeRer fEEmEl 99 TR L
i) gguu frEsmmde wEere fusomht qfieRr TS wa.

(iii) TSR IR HEe T .

(jv) WU FEETE FEE gfiae T &9

4. 9eRE@ foo fag (wocEE =) [20]
(i) HAERT HHA
(i) vEfeRE fosomeRar dereda Hwdes
(iii) higfoh Sca_T Wi
Gv) T HEH

(v) vWad fao™

(vi) WAl HETD.

[5404]-308 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

M.A. (Part-II) (Fourth Semester) EXAMINATION, 2018
ECONOMICS
(Compulsory Paper)
(EC-401 : Macro-Economic Analysis-II)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words :

(i) Explain the Baumol’s approach to Demand for Money.

(ii) Explain the monetarist approach of inflation.

2. Answer any one of the following questions in 500 words :

(i) Explain Friedman’s moden quantity theory of money.

(i1) Explain features of classical school.

No. [5404]-401

: 80

[20]

[20]

P.T.O.



3. Answer any two of the following questions in 250 words each : [20]
(i) Explain the Phillips Curve Analysis.
(ii) Explain the Loanable Fund Theory of Interest.

(i) Explain the relative effectiveness of monetary and fiscal policy
with the IS-LM curve.

(iv) Explain Tobin’s modified Phillips curve.

4, Write short notes on any four of the following in 100 words each : [20]
(i)  Fiscal Policy
(i1) Laffer curve
(ii1) Business cycle theory of Kaldor
(iv) Keynesian approach to Macro-Economics
(v) Hicks theory of Trade Cycle
(vi) Natural rate of unemployment hypothesis.
(W& i)
q% : || A THUT TUT : 80
I i— () WE W e
(i) SEHSrd 3T qui o geifadm.
(iii) SAEwgs @ feRoll gorh AR hlal
(jv) USHHE T TUSH UYAUAh] TRE.

1. Greiadsl HIEE Tt I W 500 e[ faer [20]
(i) EISHiEA RN ANl TRIGM TR &

(ii) <STaE GedEl HIEE gRihN TR .

[6404]-401 2



2. WClicUsh! HIUAE Wl YeI= SR 500 @ foer [20]

(i) TredaT=n smyfe woMueH g W= &

(i) T HYCHEETl df¥rse e AL

3. WoidUsh! SIS a geEl W Ul 250 V=S| fowr [20]
() el g% favewo e &

(ii) ANl Selis-Ta fagd T &

(i) TAAfTOHeh ST TSTehiog eRom=l 9rael gRumashReqdl (IS-LM) =

ORI T2 .

(jv) AfaT=n guia frfaw o w= *1.

4. HIUIRI ARR GAH! 100 IS diesa few fomr . [20]
(1) USTRISE &R

({i) ™®L 9

(iii) hoel=l ANIEwrET Ogid
(fv) & UL ST gftenH
(v) Ter=n =aurREs fag@

(vi) SeIET SEffes T gfieheyHr.

[5404]-401 3



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat

No. [5404]-402

M.A. (Part-II) (IV Sem.) EXAMINATION, 2018
ECONOMICS
(EC-402 : Economics of Development)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

:— (1) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

Answer any one of the following questions in 500 words : [20]
(1) What is meant by food security ? Explain the importance of

food security.

(2) Explain the static and dynamic gains from international trade.

Answer any one of the following questions in 500 words : [20]
(1) Explain the role of agriculture in Economic Development.

(2) Explain the international trade as an engine of growth.

Answer the following questions in 250 words each (any two) : [20]
(1) Explain the importance of infrastructure in economic

development.

P.T.O.



(2) Explain the role of Fiscal Policy in developing countries.
(3) Explain the role of foreign direct investment in developing
countries.

(4) Comment on population as a source of development.

4, Write short notes in 100 words each (any four) : [20]
(1) Small scale Vs. Large scale production
(2) New technology and Sustainable Agriculture
(3) The theory of Demographic Transition
(4) Human Resource Development
(6) Unlimited Supply of Labour

(6) Monetary Policy in developing countries.

(W& i)
q@ : A A THUT T : 80
ol :— () |& WA dedn
(i) STESE siw qoi T evifem.
({ii) TRUEES! HeB TUSH AR TgTEl.

1. @eid geE W 500 V[ fagl (FIUEED TeR) [20]
(1) &9 gUiyaar BN &wE? 3= gUHddd Hge W H.
(2) AU ANRE Rdivfia 9 TdRid oy TR &

2, Wl YAl W O500 Vissd foel (VAR UeR) [20]
(1) onfofs foermam@ Wdt= qfisr wee w0
(2) HAAWEE PR o I AR T FA

[5404]-402 2



(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)
(5)
(6)

[5404]-402

el Y9l 3 YAkl 250 ¥sgid foel (ShIvael dF) [20]

smfdier o aranyd gfau= #ea T
faehgaeiicd <Ml foig 9RUm= A W .

foraTeiicl qumdial faqell gorer Tdeuesi=l  Yfywr T2 H.
dAndE § onfdes fammEn Wi eme IR W &

Welld Y9’ Ycdehl 100 Ys2id eiesdd fewr fogr (@@ |m) : [20]

e YA Scaed faweg Higw gHomerial Scdred
dfa e oo wRem S

et HHeA  fawe™

FH STHAfGd  JXaal
foehgsiicl QMdiel  SfosEeh &,




Total

No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5404]-403

Time
N.B.

M.A. (Part II) (IV Semester) EXAMINATION, 2018
ECONOMICS
EC-403 : International Economics
(2008 PATTERN)

: Three Hours Maximum Marks : 80
:— (1) Attempt all questions.

(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Draw neat diagram wherever necessary.

Answer any one of the following questions in 500 words : [20]

(1) What is the fixed exchange rate ? Discuss the merits and
demerits of the fixed exchange rate.

(2) State and explain the comparative cost advantage theory of

International Trade.

Answer any one of the following questions in 500 words : [20]
(1) Explain the objectives and methods of exchange control.

(2) State and explain the objectives and functions of World Bank.

Answer the following questions in 250 words each (any
two) [20]
(1) Explain the causes of disequilibrium in the balance of payment.
(2) Describe the role of multinational corporations.

(3) Explain the functions of IMF.

(4) Explain recent export and import policies of India.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Effect of tariffs
(2) Fixed exchange rate
(3) Intra-industry trade
(4) Instruments of export promotion

(6) Components of Balance of Payment
(6) Achievement of IMF.

(S wuiav)
% : dF A THUT T : 80
ol :— () |9 WA SRIE SR
(ii) IoEhele 3k YO U SFifodm.

({ii) 3N 9k F Hegs HwEI.
(fv) 3TE¥Iw dd gash STHAl hlal

1.  Welicish! HITAE TRl Y9 500 ¥ W fal [20]
(1) fer fafm R v & ? fer fofma <gen -3t ==t
EX

(2) STAWSEE AURET Al S =0 f9gia 9 a8 o< .

2, Eriade! HIVEE TRl I 500 &M SW fa@ [20]
(1) fafma fagaeEr Sfese oo 9sdl T &
(2) <faes Soh=l Sfese omfor wE W 9 TR &

3. Geid YeAEl 250 &M S ol (FUARl gF) [20]
(1) FoRRAANd THIATET RO T H.

(2) FEUNE HEWeaE Yffw faug .

(3) AW AU e .

(4) SIcHheld @G WRAE  EE-TEd g9R T .
[5404]-403 2




4, dieFm foor famr (FvmdE ww) [20]
(1) gk 9RomH
2) fer fafma <
(3) M-S AR
(4) frafd dcameret wee
(5) AR A HIHh

(6) ST AT i

[5404]-403 3



Total

No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5404]-404

Time :

N.B.

M.A. (Part-II) (IV Semester) EXAMINATION, 2018
ECONOMICS
(EC-405 : History of Modern Economic Analysis)
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— (1) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i)  Critically explain theory of value by Hicks.
(i1) Explain fully contribution by Mundell on International Trade.

Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the macro-economic theory by Friedman.

(it) Critically evaluate Life-cycle theory by Modigliani.

Answer any two of the following questions in 250 words each : [20]
(i) State the contribution by Gunnar Mpyrdal in Development
Economics.
(it) Explain the classical approach for inflation.
(iit) Explain the Welfare Economics by Amartya Sen.
(iv) Explain Portfolio Theory by Tobin.
P.T.O.



4, Write short notes on (any four) : [20]
(i) Endogenous growth theory
(i1) Goodwin’s model
(iit) Krugman on Financial crisis in 1997
(iv) Nash equilibrium theory
(v)  Ohlin’s theory of International Trade
(vi) Game Theory.

(TS E'UIaR)
9@ : dF A THUT TUT : 80
I — (i) WS WA green
(i) IW AR 9 Hegg ITHE.
(iii) oS siw qob o el
(iv) TEgh dY Gk AhcAl DI
(v) USHMEIE! Teo TUSHT ULAUSART URIE.

1.  Weiicus! HIVER TRl Y™ SW 500 [ fagl . [20]
(i) Tema A= goafggae fowids wam &

(ii) SASE AUR Hewld Hed I IFEH T .

2, TEidis! RIEE TRl UeAET ST 500 W@ foel [20]
(i) wieHTsn gwuas v faga dfaw® 9 &
(i) TRRCHeT A= o= fagiae fedhirs  JoamdT &

3. Woiays! HIVEE SF YAl W YS! 250 Ve[ faer [20]
(i) faem@ren sevmerdad TR faefas dreE 4.
(ii) TRl Sredal ARG gt T .

(iii) STHATTY HARR AT T H.

(jv) &= TEEUE faga T &

[5404]-404 2



4, dieRd dal fom (VR W9R) [20]
(i) ofasia ga fagE
(ii) TEfor= gfaH e
(iii) A A= 1997= STfYw  siRwrmEdt fo=R
(iv) ern Tgem fagm
(v) STEcl =1 STaWeE =R g
(vi) Fa Tagm.

[5404]-404 3
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